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* 1. ARSEAR B T B /X, S BR IE #R A B A I3]T
(1) What is John looking for?

* PGS W BTUR BT D 5 B R BT ) K B R, B 4, TR




A B C

(2) How does Tom study English?

A B C

(5) Why can’t Bob come to the party?




(6) When are they going to meet?

A B C

(7) When was Jack’s grandmother born?

1935 4 [ 1932
2 2 2 1
A B C

A B C
(9) What did the boy get yesterday?
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A B C

(10) How will the weather be tomorrow?
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(14) What is Victor doing now?

* 2. ARHER T UT B B X T A AR 2 Bt A R (8]

(D A.
C.
(2) A.
C.

(3)

(4

(5)

(6)

(7

0P

CPUOEFEOPPO

At the man’s house. B. At the woman’s house.
At the restaurant, D. At the street.

Over the phone. B. Through letters.

By e-malil. D. By sending postcards.
A waiter. B. A doctor.

A teacher. D. A salesman.

He wasn’t good at writing.

He doesn’t get much writing practice.

He does well in the writing competition.

He has too many pen pals.

Two. B. Three.
Four. D. Five.
Because he lost his English book.

Because he didn’t like the English teacher.
Because he will have an English exam.
Because he didn’t pass the English exam.
Both John and Jack. B. Either John or Jack.

Neither John nor Jack. D. It doesn’t mention.
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(8) A. Fourteen. B. Thirteen.
C. Fifteen. D. Twelve.
(9) A. 5 minutes. B. 10 minutes.
C. 15 minutes. D. 20 minutes.
(10) A. He wants to be a taxi driver. B. He was a taxi driver.
C. He is a taxi driver. D. He is a bus driver.

E ET/GAOD
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**% 1. A. Chemistry. B. Math.
C. Geography. D. English.
**% 2. A. He is sleeping. B. He is listening to music.
C. He is having the exam. D. He is studying for the exam.
*% 3, A. Because her Chinese teacher is very kind to the students.
B. Because her Chinese teacher can always make her classes interesting.
C. Because she is interested in Chinese.
D. Because she thinks Chinese is a very important subject.
*%x 4. A, In 2008. B. In 2009.
C. In 2010. D. In 2011.
** 5. A, At 7:00. B. At 8:00.
C. At 9:00. D. At 10:00.
**x 6. A. He asked the woman to excuse him.
B. He wanted to give an interesting talk.
C. He didn’t want to give a talk for them.
D. He thought half an hour was not enougi'x for a\talk.
** 7. A. In a school. B. At home.
~ C. In a tea house. D. In a park.
** 8. A, 5 yuan. B. 9 yuan.
C. 18 yuan. D. 20 yuan.
** 9. A, She is fine. B. She is sick.
C. She is hurt. D. She is happy.
*%x 10. A. To have tea with her friend. B. To go to a restaurant.
C. To go to a food shop. D. To go to school.
** 11. A. Collecting coins. B. Collecting shells.
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12.

13.

14.

15.

16.

17.

18.

19.

20.
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Collecting stamps. D.
Maria is going to Hainan.

Maria likes collecting cards.
Maria has traveled all over the world.

. Maria will send a postcard to her friend.

. Outside the Children’s Palace. B.
At a bus stop. D
. 745, B.
8:30. D
. Less than an hour> B

More than an hour. D.
. Because they like growing below ground.

Because they don’t need sunshine,.

Because they like drinking water.

. In any shop.

. Seven years. B.
Nine years. D.
Mike. B.
Jenny. D.

B.
D.

In Manhattan Shopping Center.
Mobile phones are helpful.

Mobile phones are useless.
Teenagers can’t use a mobile phone.

Everyone should have a mobile phone.
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1.

A.

C. Cold and dry.
s A
C
A

. Teacher and student.

Warm and wet. B.
D
. Parent and child. B.
D

He is answering someone’s questions.

E

Collecting pictures.

On a bus.

A Af their school.

8:15.

. 8:45.

. About an hour.

Half an hour.

Because they bring water from the ground to the plant.

Eight years.

Ten years.

Mike’s brother.
Jenny’s brother.

In the men’s hat shop.

In no shop.

Cold and wet.

. Fine and cold.

Husband and wife.

. Friends.
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B. He is having his class with the students,
C. He is speaking to someone else on the telephone,.
D. He is going out to have a talk with someone.
% 4. A. He was ill.
B. He didn’t pass the exam,
C. He didn’t try his best on chemistry.
D. He didn’t have the chemistry class.
a% 5. A. Because the old house is too dirty.
B. Because she wants to listen to the violin.
C. Because she needs a quiet place.
D. Because she wants to own a pretty house.
»% 6. A. It’s rainy and wet. B. It’s cloudy and warm.
C. It’s fine and wet. D. It’s rainy and dry.
% 7. A. At 8:15. B. At 8:30.
C. At 8:45, D. At 9:00.
% 8. A. She is tall with short straight hair. B. She is tall with long curly hair.
C. She is short with straight hair. D. She is short with long curly hair.
% 9. A. 10:20. B. 10:30.
C. 10:40. D. 10:50.
+% 10. A. The City Bookshop is better than the University Bookshop.
B. The University Bookshop has got more books.
C. The City Bookshop is more expensive than the University Bookshop.
D. The University Bookshop is larger than the City Bookshop.
% 11, A.-3:30. B. 3:50.
C. 4:00. D. 4:10.
% 12. A. By ship. B. By plane.
. C. By car. D. By bus.
% 13. A. Because she knew nobody there.
B. Because she can’t speak English well.
C. Because she couldn’t stand the music.
D. Because there was no room for her to stand.
&% 14. A. The woolen sweater.
B. The cotton sweater.
C. The woolen and the cotton sweaters.
D.

The woolen or the cotton sweater.




2% 15. A. Tom Smith is not in.

=8

The woman got the wrong number.

O

The man is Tom Smith.
. Nobody knows Tom Smith.
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X% 1. Where does the con\'fer;a‘tion most probably take place?
A. In a cinema. -- B. At a hotel.
C. At the restaurant. D. At the airport. T
X¥ 2. Where does this conversation most likely take place?
A. In the theater. B. In the library.
C. In the dinning hall. D. In the post office.
XX 3. Where does this conversation probably take place?
A. In a street. B. At a party.
C. At a bank. D. In the hospital.
X% 4. Where does the woman live?
A. San Francisco. B. Paris.
C. New York. D. London.
X¥ 5. Where will the woman go first?
A. She will go to a concert. B. She will go to the bank.
C. She will see movies. D. She will stay at home.
XX 6. Who are the two speakers?
A. Doctor and patient, B. Customer and salesman.
C. Student and teacher. D. Mother and son.
X% 7. What time does Jane usually come?
A. 8:30. B. 9:00.
C. 9:15. D. 9:30.
X¥ 8. When will the man be off?
A. In fourteen days. B. In eight days.
C. In two days. D. In five days.
X% 9. How much does one jacket cost?

A. Twenty dollars. B. Twenty-five dollars.
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C. Forty dollars. D. Fifty dollars.
X% 10. How often does the woman’s daughter have piano lessons from next week on?
A. Once a week. B. Twice a week.
C. Three times a week. D. Four times a week.
¥X 11. How much should the man pay altogether?
A. 20 pounds. B. 40 pounds.
C. 22 pounds. D. 44 pounds.
XX 12. How does the man feel about the interview?
A. He is unhappy. B. He is worried.
C. He is very much satisfied. D. He feels really terrible.
¥X 13. Why can’t the woman give the man directions?

A. She is afraid of the place. B. She has never heard of the place.

C. She is not familiar with the place. D. She has never been to the place.
X% 14. What's the woman’s problem?

A. She can’t explain the instructions clearly.

B. She is deaf.

C. She is sleeping and hears nothing.

D. She doesn’t understand the instructions clearly.

*%

15. What does the man think of the suggestion?

*%

A. He just wants to stay in the room.
B. He is too tired.
C. He can’t agree with the woman.

D. He would like to follow the woman around.
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A
* 1. What’s the matter with the woman?
A. She has lost her purse. B. She has lost her way.
C. She has lost her key. D. She has lost her bag.

* 2. How will the woman go to the Wild Zoo?

A. On foot. B. By car.




